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: wrk on this q:.msﬂnn papcr Haw am-wr the following qmﬂw

_.'gummgie is 3 times its width. If the width is Sm, what is its area?

e of angle m in the triangle below if AADB

C is 1sosceles
A

)

Mot drawn to

A \ Scala
-'_:Mhamadei}umlhcnelbelnw" 8 A\ ¢

L ngular pyramid l

um;ulur pyraniic

Triangular prim

melﬁulur prism

tradn §s travelling ut 100km per hour, How fur does the train truvel in § % hours?

55.Hkm

* 50km

436km

mﬁgure below, M'ON' is an enlargement of MON with centre O. Find the scale factor.
N M




80cm
" The prime factorization 2% x 3% x 5 is for

A 60

B. 90

. 130

D. 180

If b is an integer between -1 and 1.
find the value of (b + 1)°.

e |

B. 0

et 1

e 2

Solve the equation ﬁ—:—_ = 2
A. 10

B. 2

. -2

D. -6

15. Ifp?+2=51.findb.

A, 49

B. 7

C. 17

D. -17

Simplify : 0.0864 ~ - 0.004.
A. 2160

B. 216

= C 21.6

- 2.16
I‘mdﬂm total length of the edg-::s of a
~cube if the volume is 6dcm’.

gt

21.

b
=

D.

A die and uSOpmhm
What is the total pamhle
A. 120

B. 6 .
e 32 1
D. 12

Yaa's age 11 years from n&wsﬂllbe:i g T
times her age 7 years ago. Hﬂm '
AL 15

B. 16
. 17
D, I8

Salve .1};~4%L:('1}=3-h

A ]
14 =
q
B. | —
14
c. =
23
-14
. —_
ek |

At what rate per annum will an 2
of GHC 6,000.00 earn GHE 2,48
simple interestin 2y

A 0.05%

B. 0.02%

C. . %%

D 2 ﬂ.f

Find the truth set ef - (x-l-ﬁi
A x:xg-l}

B. (xSl
C.  {x:x=4p

_pli



What is the full length of the rope?
A,  45m

B. 105m
C.  450m
’ gi;npl 500m oL
ify (m-n-r) - (3m-2n-1)
A gm +n
B. —(2m +n)
C. n-2m
D. 2m-n
Erp:m—-asa percentage.
A, 8%
8.4%
8.33%
83.3%

Wﬂmu*( 12 l)andb (12

30% of the length of a rope is 1 50m.

END OF PAPER

L4 ]

[ 9 15
D. 30
37. What geometrical figure can b

in the diagram below? ‘ET
A Cuboid

B. Cone
G Pyramid :
D. Sphere
38. A point (2, 1} is reﬂectedmtht
Find its i
A. (-1, 2)
B. (1,-2
= (-2, 1)
D, (2, -1)

39.  Inthe figure below, fe and line
parallel. 1 y° =3x°, find the v w of

A. 3¢

B. 450 f—=

C 60"

D. 75°m — P
40. Find the value ofa’ +3a- ?’ 'n

A. -2

B 2 -

C. -1 '

D. 13




(b)
(c)

(d)

2 (@

(i)

(b) (i)

| e

P and Q are subsets of the universal set 17
P = (x:%isa factor of 12 Jand Q=
() FindPn Qand (P U Q),

(i) Drawa Venn Diagram for the information,

={lsx<12}
*: % 18 8 multiple of 3},

Hﬁﬁ(jz)mdq =(z)ﬂnd r:uchlh;l:EF—q+r-(:).

The wble below shows the preferred pro

COFFaEl (rmevs s

Engineering g th‘fc:; Law
Freguency ! t | 12 | 15 3
Draw & pie churt to fepresent the informatinn abo
Given that s {;’: tid 1= (T4 \
The following are the mas .
68 42 . 66
54 12 -1
54 b
-1 48
63 68 14

Arrange the marks
Find the mode T

b

Find the truth set of i — . 22

answeronan

WINOET (1

0.810 x 0.00048

Simplify

bmm

iscending order:

U and illustrate your

0.000400 x 0.0270 and leave your answer in standard form




A woman bought 458 oranges for GHC 150.00. She kept 62 o

and sold the rest at 50 Gp each. Calculate, correct to one
percentage profit,

The interior angles of a regular polygon is thrice its exterior angle. Fi
of sides of the polygon.

The frequency distribution below shows the marks scored by m
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Th!unumbm are in the ratio 2:3:4 and their average is 36. Calculate
) the sum of the three numbers,

(1) the greatest number

‘Nisi used 6-:1 pieces of wood to
How long was the fence?

ik

N

méke a fence. Each piece was 2:m wide.

(M | Usipga ruler and a pair of co v, Construct a triangle Al
_ IABr 8cm, and ,-\H{"' =135%and BC = Tem.

(i)  Find the r’om: M o {, -t! which is equidistant from A and B
(i)  Measurc [
Find the greatest common factor of 42, 120 and 96,

A rectangular room measures | 2em by 9em. What is the length of the 1al?
 Multiply (4 + 1) by (2 - x)

mﬁﬂuwhmmm: ages of some people in a certain village:
14, 19, 18, 16 8 12, 22, 20, 6
“ﬁﬂgetshum:athmrua;s . ol
L is the median age +
lhdruuinu(&x&}nqumuﬂu,mthuh
are equal to form a mgicsqm.
%dlhr- sum of each row, column and diagonal

i) IfA={p,q,r), find thenumbuof_luh:eu’lp&._ :
{)  Find the slope between the points R(- ?-?MT& 1) R




